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7 100kN/m##8x5 | 1.00 | 0.00 ~ 061 109.09 |3mZzBAB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 11.39 ~ 1320 109.09 |3m%E#BZ% - ~ — — —
s 1.00 | 061 ~ 840 100.00 | =04t | 0.00 ~ 840 | 2.41 1216 s 1.00 | 6.00 ~ 11.39 100.00 | =nst | 6,00 ~ 1320| 2.41 1216
2 100kN/m%#8z5 | 1.00 | 000 ~ 0.73| 11091 |3mE#Bz3B| — ~ — — — | 100kN/ %825 | 1.00 | 1089 ~ 1300| 110.91 |3mE#Z5 - ~ — — —
s 1.00 | 073 ~ 852 100.00 | =0t | 0.00 ~ 8562| 2.33 11.76 s 1.00 | 6.00 ~ 10.89 100.00 | =45t | 6.00 ~ 1300)| 2.33 11.76
3 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.o0 ~ 561 70.02 | FnLS | 000 ~ 561|209 10.67 s 1.00 | .00 ~ 7.79 70.02 | TS | 6,00 ~ 7.79| 209 10.67
4 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.o0 ~ 299 38561 | #nLS | 000 ~ 299 2.57 12.99 s 1.00 | .00 ~ 725 38.61 | #hLS | .00 ~ 7.25| 2.567 12.99
5 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 755 96.58 | =nLS | 000 ~ 7.55)| 2.47 12.46 s 1.00 | 6.00 ~ 1125 96.58 | =hLS | 5,00 ~ 11.25| 2.47 12.46
P 100kN/mM%EBZ 5 — - ~ — — |3mZE#BAB| 000 ~ 0.13| 324 16.38 | 100kN/m#%#B 2% — - ~ — — |3mERBZB| 6.00 ~ 725|324 16.38
s 1.00 | 0.00 ~ 1.08 15,19 | =St | 013 ~ 1.08| 3.00 156.16 s 1.00 | .00 ~ 725 1519 | =4t | 5.00 ~ 5.00 | 3.00 15.16
7 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
ZhLlst 1.00 | 000 ~ 452 56.38 | Ths | 000 ~ 452|216 10.91 zhLlst 1.00 | 6.00 ~ 6.36 56.38 | #hs | 500 ~ 636|216 10.91
3 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhnLst 1.00 | 000 ~ 611 76.58 | Ths | ooo ~ 611|204 10.33 ZhLst 1.00 | 6.00 ~ 8.36 76.58 | Ths | 5,00 ~ 836 | 2.04 10.33
9 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst 1.00 | 000 ~ 731 9312 | =nLs | 000 ~ 000 1.73 8.76 ZhLst 1.00 | 6.00 ~ 9.40 93.12 | =S | .00 ~ 940 1.73 8.76
10 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst 1.00 | 0.o0 ~ 7.09 90.01 | =nLs | 000 ~ 0.00) 1.63 8.24 ZhLst 1.00 | 6.00 ~ 9.40 90.01 | =nLst | .00 ~ 9.40| 1.63 8.24
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~




